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1. What is the fourth proportional to 3, 7, 15.

3] 7] 15 dk prqFkZ lekuqikrh D;k gS\
(a) 20 (b) 30

(c) 35 (d) 45

2. What is the mean proportion between 8 and 32.

8 vkSj 32 ds chp eè; vuqikr D;k gS\
(a) 2 (b) 4

(c) 16 (d) 32

3. What is the sub-duplicate ratio of 16 : 25.

16%25 dk lc&MqfIydsV vuqikr D;k gS\
(a) 2 : 3 (b) 4 : 5

(c) 3 : 7 (d) None

4. Given that both x and y vary directly from

each other. If x = 10 and y = 15, which of the

following pairs is not possible with respect to

the value of x and y?

fn;k x;k gS fd x vkSj y nksuksa ,d nwljs ls lh/s fHkUu
gksrs gSaA ;fn x ¾ 10 vkSj y ¾ 15] fuEufyf•r esa ls dkSu
lk ;qXe x vkSj y ds eku ds laca/ esa laHko ugha gS\
(a) x = 2 and y = 3 (b) x = 8 and y = 12

(c) x = 15 and y = 20 (d) x = 25 and y = 37.5

5. If p, q, r and s are proportional then the mean

proportion between p² + r² and q² + s² is

;fn p, q, r vkSj s vkuqikfrd gSa rks p² + r² vkSj q² +

s² ds chp vkSlr vuqikr gS

(a)
pr

qs
(b) pq rs

(c)
p

q
+

s

r
(d)

2 2

2 2

p r

q s


6. At constant temperature, pressure of a definite

mass of gas is inversely proportional to the

volume. If the pressure is reduced by 20%, find

the respective change in volume.

fLFkj rkieku ij] xSl ds ,d fuf'pr æO;eku dk ncko
vk;ru ds O;qRØekuqikrh gksrk gSA ;fn nkc dks 20» de
dj fn;k tk,] rks vk;ru esa lacaf/r ifjorZu Kkr dhft,A
(a) –16.66% (b) +25%

(c) –25% (d) +16.66

Proportion@lekuqikr
(Practice Sheet With Solution)

7. x varies directly as (y² + z²). At y = 2 and z =

3, then value of x is 26. Find the value of x,

when z = 1, and y = 5.

x lh/s (y² + z²) ds :i esa fHkUu gksrk gSA y = 2  vkSj z
= 3 ij] rc x dk eku 26 gSA x dk eku Kkr dhft,]
tc z = 1] vkSj y = 5 gksA
(a) 50 (b) 55

(c) 52 (d) 60

8. If 80 is the fourth proportional to 10, 16 and

x, then the value of x is:

;fn 10] 16 vkSj x dk prqFkkZuqikrh 80 gS] rks x dk eku
Kkr dhft,A
(a) 128 (b) 2

(c) 50 (d) 108

9. What is the fourth proportional to 0.6, 0.12,

0.04?

0.6, 0.12, 0.04 dk prqFkkZuqikrh D;k gS\
(a) 0.1 (b) 0.098

(c) 0.008 (d) 0.68

10. What is the ratio of the mean proportional

between 4.8 and 10.8 and the third

proportional to 0.4 and 2.4?

4-8 vkSj 10-8 ds chp eè; vkuqikfrd vkSj 0-4 vkSj 2-4
ds chp r`rh; vkuqikfrd dk vuqikr D;k gS\
(a) 2 : 3 (b) 1 : 2

(c) 3 : 2 (d) 2 : 1

11. What is the difference in the mean

proportional between 1.8 and 3.2 and the third

proportional to 5 and 3?

1-8 vkSj 3-2 ds chp eè;kuqikr vkSj 5 vkSj 3 ds rqrh;kuqikr
eas varj Kkr djsaA
(a) 0.6 (b) 0.4

(c) 0.5 (d) 0.7

12. Find the ratio between the fourth proportional

of 12, 16, 6 and the third proportional of 4, 6.

12] 16] 6 ds prqFkkZuqikr vkSj 4] 6 ds r`rh;kuqikr ds
eè; vuqikr Kkr djsaA
(a) 11 : 5 (b) 3 : 2

(c) 4 : 3 (d) 8 : 9

13. Fourth proportion to 12, 18 and 6 is same as

the third proportion to k and 6. What is the

value of k?
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12] 18 vkSj 6 dk prqFkkZuqikr k vkSj 6 ds r`rh;uqikr ds
cjkcj gSA k dk eku Kkr djsaA
(a) 363 (b) 13.5

(c) 4 (d) 3

14. What number should be added to each of the
number 103, 135, 110 and 144 so that the
resulting numbers are in proportion?

103] 135] 110 vkSj 144 esa izR;sd la[;k esa dkSu lh
la[;k tksM+h tkuh pkfg, fd ftlds ifj.kkeLo:i izkIr
la[;k,a lekuqikr esa gksa\
(a) 12 (b) 15

(c) 9 (d) 6

15. If 2x + 1, x + 2, 2 and 5 are in proportion, then
what is the mean proportional between 3.5(1
– x) and 8(1 + x)?

;fn 2x + 1, x + 2, 2 vkSj 5 lekuqikr esa gS] rks 3.5(1

– x) vkSj 8(1 + x) dk eè;kuqikrh D;k gS\
(a) 5.5 (b) 4.25

(c) 5.25 (d) 4.5

16. When x is added to each of 9, 15, 21 and 31,
the numbers so obtained are in proportion.
What is the mean proportional between the
numbers (3x – 2) and (5x + 4)?

tc x dks 9] 15] 21 vkSj 31 esa ls izR;sd esa tksM+k tkrk
gS] rks izkIr la[;k,¡ lekuqikr esa gksrh gSaA la[;k (3x – 2)

vkSj (5x + 4) ds chp eè;kuqikr Kkr dhft,A
(a) 35 (b) 20

(c) 30 (d) 42

17. When x is added to each of 2, 3, 30 and 35,
then the numbers obtained in this order, are
in proportion. What is the mean proportional
between (x + 7) and (x – 2)?

tc 2] 3] 30 vkSj 35 esa ls izR;sd esa x tksM+k tkrk gS] rks
bl Øe esa izkIr la[;k,a] lekuqikfrd gksrh gS (x + 7) vkSj
(x – 2) ds chp dk eè; vkuqikfrd D;k gksxk\
(a) 7 (b) 4

(c) 5 (d) 6

18. If x is subtracted from each of the numbers
20, 37, 54 and 105, then the numbers so
obtained in this order are in proportion. What
is the mean proportional between (7x – 5) and
(x + 1)?

tc 20] 37] 54 vkSj 105 esa ls izR;sd esa x ?kVk;k tkrk
gS rks bl Øe esa izkIr la[;k,a] vuqikr esa gksrh gS (7x –

5) vkSj (x + 1) dk eè;kuqikr Kkr dhft,A
(a) 8 (b) 9

(c) 6 (d) 12

19. When x is subtracted from each of the
numbers 54, 49, 22 and 21, the numbers so
obtained are in proportion. The ratio of (8x –
25) to (7x – 26) is:

la[;kvksa 54] 49] 22 vkSj 21 esa ls izR;sd ls x dks ?kVkus
ij izkIr la[;k,a lekuqikr esa gSA (8x – 25) vkSj (7x –

26) dk vuqikr Kkr djsaA
(a) 29 : 24 (b) 15 : 13
(c) 27 : 26 (d) 5 : 4

20. If b is the mean proportion to a and c with a

common ratio 3
2

3
, then (a – b)3 : (b – c)3 is

;fn a vkSj c dk eè;kuqikrh b gS vkSj bldk nksuksa ds

lkFk mHk;fu"B vuqikr 3
2

3
 gS rks (a – b)3 : (b – c)3  dk

eku Kkr dhft,A
(a) 3 : 2 (b) 1 : 1
(c) 2 : 3 (d) 1 : 2

21. A gold broke into three parts, the ratio of
weight of three part is 3:4:5. The price of gold
is directly proportional to its square weight.
If there is loss of Rs 23500 after breaking gold
then what was the starting price of gold?

,d lksuk rhu fgLls esa VwV x;kA bu rhuks fgLls ds otu
dk vuqikr 3 % 4 % 5 gSA lksus dh dher blds otu ds
oxZ ds vuqØekuqikrh gSA ;fn ;s lksuk VwVus ij 23500
:i;s dk uqdlku gqvkA lksus dh ewy dher D;k Fkh\
(a) 30,000 (b) 36,000
(c) 40,000 (d) 46,000

22. If x is the mean proportional between 12.8 and
64.8 and y is the third proportional to 38.4
and 57.6, then 2x : y is equal to:

;fn x, 12.8 vkSj 64.8 dk eè;kuqikrh gS vkSj y, 38.4 vkSj
57.6 dk r̀rh;kuqikrh in gS] rks 2x : y____ds cjkcj gksxk\
(a) 1 : 2 (b) 2 : 3
(c) 3 : 4 (d) 4 : 5

23. The fourth proportional to 0.12, 0.21 and 8 is

0-12] 0-21 vkSj 8 dk pkSFkk lekuqikfrd gS
(a) 8.9 (b) 14
(c) 17 (d) 56

24. The mean proportional between (3 + 2) and
(12 – 32) is

(3 + 2) vkSj (12 – 32) ds chp ekè; lekuqikfrd gS
(a) 7 (b) 27

(c) 6 (d)
15 – 3 2

2

25. When a particular number is subtracted from
each of 7, 9, 11 and 15 the resulting numbers are
in proportion. The number to be subtracted is

tc ,d fo'ks"k la[;k dks 7] 9] 11 vkSj 15 çR;sd esa ls
?kVk;k tkrk gS rks ifj.kkeh la[;k,¡ lekuqikr esa gksrh gSaA
?kVkbZ tkus okyh la[;k gS
(a) 1 (b) 2

(c) 3 (d) 5
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26. If 2x + 1, x + 2, 2 and 5 are proportion then
find (x + 3) : (x – 2) ?

;fn 2x + 1, x + 2, 2 vkSj 5 lekuqikr gSa] rks (x + 3) :

(x – 2) Kkr dhft,A
(a) 23 : – 17 (b) 23 : 17

(c) 23 : 16 (d) – 23 : 17

27. What is the mean proportional of (15 + 200)
and (27 – 648)?

(15 + 200) vkSj (27 – 648) dk vkSlr vuqikr D;k gS\
(a) 35 (b) 820

(c) 37 (d) 73

28. What is the third proportional of 
y

y


x

x , ² y²x .

y

y


x

x , ² y²x  dk rhljk lekuqikrh D;k gS\

(a) xy (b) x

(c) 2 (d) x²y²

29. The mean proportional between 45 and a

certain number is three times the mean

proportional between 5 and 22. The number is:

45 vkSj ,d fuf'pr la[;k ds chp dk eè;kuqikr 5 vkSj 22

ds chp ds eè;kuqikr dk rhu xquk gSA la[;k gS%

(a) 56 (b) 22

(c) 43 (d) 65

30. What number should be added to each of the

numbers 94, 24, 100 and 26, so that the

resulting numbers are in continued

proportion?

94] 24] 100 vkSj 26 la[;kvksa esa ls izR;sd la[;k esa fdl

la[;k dk ;ksx fd;k tkuk pkfg,] rkfd ifj.kkeh la[;k

fujarj vuqikr eas gks\

(a) 10 (b) 9

(c) 11 (d) 8

1.(c) 2.(c) 3.(b) 4.(c) 5.(b) 6.(b) 7.(c) 8.(c) 9.(c) 10.(b)

11.(a) 12.(d) 13.(c) 14.(c) 15.(c) 16.(a) 17.(d) 18.(a) 19.(a) 20.(c)

21.(b) 22.(b) 23.(b) 24.(b) 25.(c) 26.(a) 27.(a) 28.(a) 29.(b) 30.(c)

Answer Key
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SOLUTIONS
1. (c)

Fourth proportion 
bc

=
a

 
7 15

=
3


 = 35

2. (c)

Mean proportion = a b   = 8 32   = 16

3. (b)

Sub-duplicate ratio 
16 4

= =
25 5

4. (c)

10 2
= =

y 15 3

x

(a)
2

=
y 3

x

(b)
8 2

= =
y 12 3

x

(c)
15 3

= =
y 20 4

x
      [option (c) is not possible]

(d)
25 2

= =
y 37.5 3

x

5. (a)

p r
 =
q s



qr
p =

s
2

qr
r²

p² r² r² (q² s²) r²s
 = = =
q² s² q² s² s² (q² s²) s²

 
     

  

So,

r r
=

s s
   

p r
=

q s
  

pr
=

qs

6. (b)

1
 p

v
 [ Temperature]

Ratio

Pressure 5 : 4

Volume 4 : 5




     

1
 20% =

5


Change in volume 
5 – 4

 100%
4

     25%

7. (c)

x   (y² + z²)

x = k (y² + z²) [ k = Constant]
x = 26, y = 2, z = 3
26 = k (4 + 9)
k = 2
x = k (y² + z²)
x = ?, k = 2, y = 5, z = 1
x = 2 (25 + 1)
x = 52

8. (c)

Forth proportion 
bc

=
a

16
80 =

10

x

x = 50
9. (c)

Forth proportion 
bc

=
a

 
0.12 0.04

=
0.6


  = 0.008

10. (d)

Mean proportion = ab  = 4.8 10.8
= 1.6 × 18

Third proportion 
b²

=
a

 
2.4 2.4

=
0.4


 = 14.4

Ratio = 1.6 × 18 : 14.4  = 2 : 1
11. (a)

Mean proportion = ab = 18 3.2 = 2.4

Third proportion 
b² 3 3

= = = 1.8
c 5



Difference = 2.4 – 1.8  = 0.6
12. (d)

Fourth proportion 
bc 16 6

= = = 8
a 12



Third proportion 
b² 6 6

= = = 9
a 4



Ratio = 8 : 9
13. (c)

Fourth proportion 
bc 18 6

= = = 9
a 12



Third proportion 
b² 6 6 36

= = =
a k k



Now According to the question –

36
9 =

k
k = 4
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14. (c)

(I)
103,      135,     110,  144

32 34
 

32 : 34
16 : 17
  17 × 103 – 16 × 110
 1751 – 1760
1  9  = 9

(II) By option (C) –

103 9 110 9
=

135 9 144 9

 

 

112 119
=

144 153

Divided by 16 in L.H.S and by 17 in R.H.S.

7 7
 =
9 9



15. (c)

2 1 2
=

2 5





x

x

10x + 5 = 2x + 4
8x = – 1

1
= –

8
x

Mean proportion = 3.5(1 – ) 8(1 ) x x

1 1
= 3.5 1 8 1 –

8 8

   
       
   

9
= 3.5 7

8
 

7 9
= 7

2 8
 

7 3 21
 = = 5.25

4 4




16. (a)

9,   15,       21,     31

106
 

6 : 10
3 : 5
(5 – 3) = (5 × 9) – (21 × 3)
2 = 45 – 63
2 = 18
1 = 9
r = 9
Mean proportion

= (3 – 2) (5 4) = (3 9 – 2) (5 9 4)     x x

= 25 49  = 5 × 7 = 35

17. (d)

2,      3,          30,       35

51
 

1 : 5

(5 – 1) = (5 × 2) – (1 × 30)

4 = 10 – 30

4 = 20

1 = 5

x = 5

Mean proportion

= (x 7) (x – 2) = (5 7) (5 – 2)      = 6

18. (a)

20,      37,          54,       105

5117
 

17 : 51

  1 : 3

(3 – 1) = (3 × 20) – (54 × 1)

2 = 60 – 54

1 = 3

x = 3

Mean proportion = (7 – 5) ( 1) x x

= (7 3 – 5) (3 1)    = 64  = 8

19. (a)

54,      49,          22,       21

5 1
 

5 : 1

(5 – 1) = (54 × 1) – (5 × 22)

4 = 56

1 = 14

x = 14

Ratio 
(8 – 25) (8 14 – 25)

= =
(7 – 26) (7 14 – 26)





x

x
 

87 29
= =

72 24

20. (a)

b = ac

3
3

3

(a – b)³ (a – ac) [ a( a – c)]³ a
= = =

(b – c)³ ( ac – c) [ c( a – c)]³ c

 
 
 
 

According to the question –

a × (common ratio)² = c

(Comman ratio)² 
c

=
a

2

3
2 c

=
3 a

 
 
 
 
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2

32 c
=

3 a

 
  
 

33
2(a – b)³ a a

 = =
(b – c)³ c c

           
   

2 3

3 23 3
= =

2 2

 
  
 

21. (b)
Price  weight
P1  (3 + 4 + 5)² = 144
P²  3² + 4² + 5² = 50
(144 – 50) = 23500
1 = 250
Starting price of gold (P

1
) = 144 × 250
 = 36,000

22. (b)

= 12.8 64.8x

   = 25.6 32.4
    = 16 × 1.8

b² 57.6 57.6
y = =

a 38.4



   
2.4 57.6

=
16


 

0.3 57.6
=

2


  = 0.3 × 288

2x : y = 2 × 16 × 1.8 : 0.3 × 288   = 2 : 3
23. (b)

Forth proportion  
bc 0.21 8

= = = 14
a 0.12



24. (b)

Mean proportion = (3 2)(12 – 32)

                     = 36 12 2 – 3 32 – 8

                      = 28 12 2 – 12 2

                      2 7
25. (c)

7,      9,          11,       15

2 4
 

2 : 4
1 : 2
(2 – 1) = (2 × 7) – (11 × 1)
1 = 3
Number is 3

26. (a)

(2 1) 2
=

( 2) 5





x

x
10x + 5 = 2x + 4

–1
=

8
x

–1
3

( 3) 8
=

–1( – 2)
– 2

8

 
    
 
  
 

x

x

23
238= =

–17 –17

8

(x + 3) : (x – 2) = 23 : – 17

27. (a)

Mean proportion = (15 200) (27 – 648) 

= (15 10 2) (27 – 18 2) 

= 405 270 2 – 270 2 – 180 2 

= 405 – 180 2

= 45 = 3 5

28. (a)

y
,  ² y²

y
 

x
x

x

Third proportion 
( ² y²)²b²

= =
a y

y



 
  
 

x

x

x

² y²
= = y

² y²

y





x
x

x

x

29. (b)

Let certain number is = x

Mean proportion = ab = 45x

Mean proportion = ab = 5 22 = 110

According to the question –

45 = 3 110 x

45 × x = 9 × 110

x = 22

30. (c)

94,      24 ,          100,       26

7470
 

70 : 74

35 : 37

(37 – 35) = (35 × 100) – (37 × 94)

2 = 3500 – 3478

2 = 22

1 = 11

The number is 11
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